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11feER I5HT 569| 100.0% 366| ERIE SLE™ 1512]  99.0% 366|518 ES il 1472 143.7%
1|RER i3 )11 4% 219  100.0% 366 ;1 fEE 5 3R [R BT 2172]  99.0% 367 BEE 34 T 1,371] 143.6%
1RER AJIET 970 100.0% 368|FIFMLE  |FrE™ 1,818]  99.0% 368 |55 JIAE A BT 280 143.5%
1RER ESIEE] 493  100.0% 369|ZIEE mEm 8,188/  98.9% 368 |12 IR INPTET 387| 143.5%
1{EEE ERF 416]  100.0% 370|FEXRIE mET 3,897 98.9% 30|28 =R 4573 143.5%
1ESE I 476 100.0% 3N |ZHE EH™ 35,451 98.8% 37| ZFE JII BT 1,288 143.5%
1{EEE =14 362] 100.0% 372|HE AR B 29,409  98.8% 372|dtEE = Rant 157 143.3%
1{EE R =0T 1,192]  100.0% 33[BEE FEHF 16,739]  98.8% 372[EERIE EZSKHT 304] 143.3%
1BEER NS TN 253  100.0% 374|RIBE AT 6,164  98.7% 374|ELIE KET™ 2,706] 143.3%
1{EER BIEHET 147|  100.0% 375 IUFIIE AR FOET 1,931 98.7% 375\dtimE 25 RITET 178 143.1%
2R = [E AT 57| 100.0% 376/ EIR Re] B 5,286]  98.7% 375|dvimiE Tt ECHT 298] 143.1%
=] JI 4T 77| 100.0% 37|EER mET 18,019]  98.7% 37| KXHE FiEH 6,924] 143.1%
1{EEE KHEHT 10/  100.0% 378| HABAF FAH 13,835  98.7% 378| RiME FI| 48 BT 849 143.1%
BB 8 EEHT 36/ 100.0% 379 R AR IR 48,928|  98.6% 379Uz 12 Wi By 773]  143.0%
1{EE R SEILHET 31| 100.0% 380| A LIS EHmH 3,946] 98.6% 380(dtiEE FLEHET 825 143.0%
1{EEE BEH 12| 100.0% 381[F R 2 /N ET 1,323]  98.5% 381[deiEE =T 138] 142.9%
1{EER i By 617] 100.0% 382/l B 18 PFETH 5,505  98.5% 381k B 3 BB T 1,082]  142.9%
1{EEE BREEFRT 59| 100.0% 383| EER JIIFE 11,536]  98.5% 381 | REHE NIIES] 701  142.9%
1% EIE TR IR 58,548| 100.0% 384| ERE J\GEHT 1,193 98.4% 381|1&=RE JIITEHT - = ERTR TRt i S 333 142.9%
1R KET 19,298]  100.0% 385|IHER W)l 5,400  98.4% 381|Z1E Lr BRT 2,653] 142.9%
1R E Hirmh 11,464] 100.0% 386 [ LIS K EHET 842|  98.4% 381|REKIE [EalEsin 577] 142.9%
1| % E TEth 9,876/ 100.0% 387|E%ME IR b 4479 98.4% 387 i?ﬁi%ﬂ i)l 12,409] 142.8%
1% B oA h 10,168]  100.0% 388|FHARKT RHEIH 6,441 98.3% 388|FNHIE [=NES 1,494] 142.7%
1R R AlEh 4787]  100.0% 388| RIFE Lk Al 1,789  98.3% 389| FEE W A 2,159] 142.7%
1|ZRIE T 3,894] 100.0% 30| EEE i EEHT 3,057] 98.3% 390| EER BHET 24.892| 142.5%
1|ZRIE BET 5 Th 5,348]  100.0% 391 | [ LR L™ 2934 98.3% 91|{EER R 416] 142.5%
1| F 2 IE 3,226 100.0% 3925 F B JnZEth 8,064] 98.3% 392| =i 12 A = [EHT 722]  142.5%
1|ZRIE T 4583 100.0% 393[HFKIE FEHR 1,225  98.2% 393| Lz I8 & LHT 564 142.4%
1| ZRIE wEEXKET 2,753  100.0% 33| FMLE | BEHT™ 4337  98.2% 394|dt:EE iEEN 193] 142.3%
1R E =& 1,751]  100.0% 3934 fEIE ISELER 990]  98.2% 395 ILAE EFMH 2012] 142.3%
1| ZRIE |3 il 2,814 100.0% 3934818 aﬂé%ﬂﬂ 665]  98.2% 396| K8 =kl 4629 142.3%
1|ZRIE Akl 5,353  100.0% 397|RIJIE BEXTH 4387 98.2% 397 | LR R EH 1,224]  142.1%
1R E BmFEH 6,642] 100.0% 398|EE R $ A BT 1,178]  98.2% 397 |fahd 2 E&H 737] 142.1%
1R S £ AT 6,905/ 100.0% 399|B5E BT 4604 98.2% 397|FIKE AR BT 471 142.1%
1R B KIEh 21.837| 100.0% 400/ FEE hE™T 19,367 98.1% 400 REFIE L HAET 256 141.9%
1R E O=b5hh 12,231]  100.0% 401 | KRR EXRE 1,083]  98.0% 401 | RIKIE LR EH 1,035 141.9%
1R E BB 4916] 100.0% 402|4EFH 8 FE AT 738]  98.0% 402| EEIR NENH 2,750] 141.9%
1R R EEH 1,851] 100.0% 402 |2 B FEHRT 1,016]  98.0% 403 ;4B 1R A ERET 1,204 141.9%
1|ZRIEE SFam 6,164 100.0% 402 | RIKIE TEEtH 2,155]  98.0% 404|FXHE T 35, B HT 400 141.9%
1ZRHEE EEX=ETH 2,501  100.0% 402| K18 EES 1559  98.0% 405|518 2imth 1,368] 141.8%
1R E AR ] 3,921| 100.0% 406K E X 3,854|  98.0% 406 | H R HERX 13,036] 141.7%
1| ZRBE bl 7,161]  100.0% 407512 ZERT 2,209]  98.0% IESE {EER S+ 36| 141.7%
1| % B REH 3,880 100.0% 407 | KPR FF ANERTH 6,417  98.0% 408 |F% [ IR FaEm 1593] 141.6%
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REBANIEME ERIZBITHELICTIRIEDE[HIRR (2)
@A > 3—=yk (30Mbps LA E) R4IBEE GOEEBEORBIREREEEHEE R4SIBEE OHEORFHIVEL—FEFE RA.31BIE
B 5z | &8 HF 12 HEEA BEAEHR % B 5z | &8 AF 12 4 c&%%ﬁ BRELESHR % B 15 | &R & I8 HEEA IREARFHR %
HEZ ! G 2272] 100.0% 407 ({2 12 Al 3,634 98.0% 409| E I 12 R ET 774 141.5%
1% E HNFHMNIHH 2,916] 100.0% 407|EERIE LT 3,747  98.0% 410| =i 12 %) 1| BT 304]  141.5%
1% E G 2,742  100.0% 41 |IFEIR B 1,795  97.9% 40| RFFIE E+RHE 1,083] 141.5%
1| ZRIE AT 7,543]  100.0% 412|t2E R SEIRTH 1,026]  97.9% 410| I B 1§ IR A BT 629] 141.5%
1R R 1TA™ 2,133  100.0% 412|FB R ™ 1,581 97.9% 413(dtiEE ZE1LRET 721 141.4%
1|ZRIE $2MA™H 3,006] 100.0% 42|{EHE BELLTH 1510/  97.9% M4 REFHE AL 207|  141.4%
1% E KIEH BT 4729 100.0% 415|FE R WET 34446 97.8% 415|HER AHET 3,173 141.3%
12k E INEET 3,593  100.0% 416|EIFE HmEh 5,001 97.8% 416| RIKIE E=1i 3,074] 141.3%
1| ZRE 2% 5 BT 2,138 100.0% 417|112 HMEANT™ 2,655 97.8% M7ILZ R JII FaHT 996] 141.2%
HEZTE! K ET 1,025 100.0% 48lIEE R INEETR 3,782 97.8% MTBER EAAT 593| 141.2%
1| R E Ik BB T 1,082 100.0% 419|HFERIE mARE 39,148  97.8% MIHENNE  |[PHET 603] 141.2%
1|ZRE BB 3,443] 100.0% 420/ FEE il 31,660 97.8% MT|FHEBEE =% 6,782 141.2%
EZT:! KFH] 808] 100.0% 420/ =ZE & EZH 7,411 97.8% MEER XIRET 201 141.2%
1| %IBE el 917| 100.0% 422 %ﬁ,%kn KREH 19,785] 97.8% 422| B 12 AT 770  141.1%
HE3 A ] & ET 3,694 100.0% 423|112 B8 EHHT 777]  97.8% 423|458 X O HT 2,188] 141.1%
1 ZREE SA] T 400  100.0% 424 E.HhLR INIRTH 3,390 97.8% 424|BEE R =T 4958 141.1%
1| RRE J\FHHT 1,529] 100.0% 425|518 KFFth 8,523 97.8% 425|F8 8 fIE B mh 2,880 141.0%
1| R E HEH 490]  100.0% 42642 B8 EHEET 3,124] 97.8% 42615 12 BEEh 2,342] 141.0%
1|ZRBE 15 HT 1,826 100.0% 426|135 E R T 13,057]  97.8% 42755 FEE il 10,691]  141.0%
1|ZRIE ¥ 1R By 849]  100.0% 428 #ﬁi:‘—SJIILr ﬁzﬁ”“?ﬁ 27,343]  97.7% 4281 E IR & B B HT 1437] 141.0%
1[#KE AR 39,148]  100.0% 429| X5 B%KFHH 2,229  97.7% 429|4BE 2 BT 2,790| 140.9%
1R E FE=ETTH 39,957 100.0% 430 i,sﬁﬂ iih‘mfﬁ 10,761 97.7% 430(EEREE [ZN4HT 521] 140.8%
1|¥FARE BFITH 9,723]  100.0% 431|RERIE R {£ BT 825 97.7% 43115 F 12 = RET 1,019] 140.8%
1[HEARE AT 11,094| 100.0% 4324 $EIE EAH 4462 97.6% 432| ERE A=Al 3,511] 140.8%
1|{IEARE {£5Fth 8,074| 100.0% 433|RERIE A BT &R A 699/ 97.6% 433|dtiEE [LEHRT 381 140.7%
1#EARE A 7,107]  100.0% 433|RERIE =BT 1,013]  97.6% 433 | B & & HHET 2,329 140.7%
1|¥FARE Byt 4909 100.0% 435 |4g [ & J\&h 4348 97.6% 435(dtiEE Al T 1,267| 140.7%
1[HEARE MU 13,033]  100.0% 436|ZRIBIE FaEh 2272]  97.6% 436| FER {E0 75 BT 273| 140.6%
1R E BERETh 6,565 100.0% 436| KB 2= 4629 97.6% 437 5 HZE KrEET 364| 140.5%
1HERE AHAET 5,231  100.0% 438| RIBIE =&h 1,751 97.6% 438| R &D FEX 12,752 140.3%
1HERE KHrh 2,134]  100.0% 438|FEE R REHET 981 97.6% 439|BEE R AHEYTH 3,877 140.1%
1HEARE ARZEIR IR T 9,112 100.0% 440 ERE ERE 15,484]  97.5% 440| LFIE Jeith 3,327| 140.1%
1#EARE Xbm 3,854] 100.0% 441 |3 IR (08 =x=YA¥:)Yi7] 12,231 97.5% 441(dtiEE AR NET 164] 140.0%
1A E AESILTH 1,613]  100.0% 442|212 Kimm 3,085  97.5% 441|4tiEE FRALET 224]  140.0%
1iEARE T8 4725 100.0% 442|458 [H 8 A LLET 956/ 97.5% 441 |BEE 12 = I ET 2,110] 140.0%
1HEARE =17 2,588 100.0% 144 B REE  |HK™ 4817  97.5% 441 | T HD HEEHN 163]  140.0%
1HERE EAHET 717]  100.0% 445|135 FE I8 ¥LLth 9,804] 97.5% AN |ME)NE | EEEE 318 140.0%
1HERE i B HT 825/ 100.0% 446 | Z5IE EBHT 25473]  97.4% ! g HHT 589| 140.0%
1HEKRE FEH 1,225  100.0% 47| FEE eti=hit] 50,592] 97.4% 4141 | EHE IS1IES) 496] 140.0%
1iEAE T A HT 3,046  100.0% M8 ERER [EMRt 2,392  97.4% 4141 | EEE INIFT 119] 140.0%
1R E FFARHT 1,855 100.0% 4199| 5FHZFE EJITH 2087] 97.4% 441 |ZHE ZET 4421 140.0%
1R E IENHT 621 100.0% 45015 F I8 HEH 3,926] 97.4% 441 | KR FF AFHT 964 140.0%
1HERE =R R ET 2,153  100.0% 450 F I8 tEmH 3,294  97.4% AN FAFUE  |SFET 139  140.0%
1[HEKRE AR ZEHT 1,351 100.0% 452|112 518 LWhETh 24,021 97.4% 441|gERIE BKEE T 198 140.0%
1HERE BB 3a[) 1| BT 859 100.0% 453| 2/ mEM 15,025  97.4% 453 FHZE 7P HT 829 139.7%
11HEEER HEE 36,271]  100.0% 454|FERIR ithh 3,881 97.2% 454 *%HLr RFZH 542]  139.6%
1HEEE =&t 29.497]  100.0% 454| F K I8 E=Hr 1,368  97.2% 455|FX A2 S IERET 1,159]  139.6%
11HEE e 7,281  100.0% 456 ;5318 Jt B AT 1,766]  97.2% 456|fEE IR =¥ 1,300] 139.4%
1EER FEIET 17,332]  100.0% 457 KRR = A 800/ 97.1% 457|BEE R A& 224] 139.3%
1|1HEER AHEH 19,231]  100.0% 457|EZERIE XK= HES 4,341 97.1% 457|Z1E 18 FAHHET 424 139.3%
11HEE BET™ 3,173]  100.0% 457|EIFE = Ha T 1,619]  97.1% 459|fEE IR E 35 0it] 1,750] 139.2%
1EEER fEMTH 5,497 100.0% 457|EIFE JI BT 1,288  97.1% 4605 18 BTl 9,508] 139.1%
1|HEER AH 4958| 100.0% 7 EREE |EIOFM 2303]  97.1% 461|FEER —=Hr 971 139.1%
1EER R 4506 100.0% 462|B5HE =i 17,013  97.1% 461 | S 51E BAIIES] 70| 139.1%
11HEE =EMh 3,375/ 100.0% 463|FIFRLIE  |HHT™ 1,790  97.1% 463|3t:EE BRI AT 286] 139.0%
11HEE =Tt 3,623 100.0% 464|EH T ED KHRX 40,995 97.0% 464| =58 R 15,728 139.0%
11HEEER HEYTH 3,877 100.0% 465| REFE EEmMN 1522  97.0% 465| R ER =HKX 14,261 138.9%
1HEER BEM 1,141]  100.0% 466 |4 [if] & ZBE™ 3,937]  97.0% 466|F1ZXILIE  [msmBE AT 2REs 177] 138.9%
11HEER = [ AT 2,110]  100.0% 467| KB fF Em@mm 12,666]  96.9% 467 | R ER EX I 10,761] 138.8%
1|HEER T{ZFHHT 226 100.0% 468/l B 12 B 3,665/  96.9% 4683t 8 KA ERET 283 138.7%
11HEER [Eaka el 26 100.0% 468| = 4012 o 75 + HT 940  96.9% 468 |3t 88 A7l BT 367| 138.7%
11HEE HZEHT 882 100.0% 470 =GR =I5 32,183  96.9% 468|5F B J\IBEH 1,385| 138.7%
11HEE KEFIRET 300/ 100.0% A |BER % A BT 636]  96.9% 468| RET R A ST 291| 138.7%
1HEEER ENA 593]  100.0% A71|=F 8 SEM 2,752  96.9% 468|E1EIE L EHT 294| 138.7%
1EEER EEET 312  100.0% A |ESR BHAHLLET 981 96.9% 473| EER A )IET 2,662| 138.7%
1HEER = LA 227]  100.0% 471 |RERIE EX-A) 526]  96.9% 474| R HD hRX 9,737| 138.7%
1HEEER s 1) 721]  100.0% 475[lLOE FEH 11,560]  96.8% 475|128 H)Ilth 3,634] 138.6%
1HEEER A& 224]  100.0% 47642 E R AE)hH 6,011 96.8% 476| 5 F 8 A#EH 2,441] 138.6%
1HEEE LS 248| 100.0% 477 EEE Jt R HT 1,182]  96.8% 476|LLFLIE I SRET 375 138.6%
1|1HER ZENES] 514] 100.0% 477| SR8 R ESE 390/ 96.8% 4785 B8 LSl 47325| 138.5%
1EEER HEE v HT 953  100.0% 479 LR HEH 2,630/ 96.8% 479|Z IR =1 40,070| 138.5%
1HEER EFTHET 2,532] 100.0% 480[LLUFIE EtEHT 3,376] 96.7% 480| = I I8 = T REHT 800] 138.5%
EER = 981]  100.0% 481|FEE B AR FEET 1,322]  96.7% 481|{EE B INRETH 2,281] 138.4%
1BEEE BA FOET 823]  100.0% 481 | g% R = AT 2,329]  96.7% 482|ta k12 DESEERMEE 638] 138.3%
1EER T HHET 821] 100.0% 481 | &R FF HFHT 418  96.7% 483|4EFH 8 5 SR ET 1,165 138.3%
1HEEE KIRHET 3,041 100.0% 484|Z 5118 HET 7,282]  96.7% 484|135 E R E = 1LAT 1,952 138.2%
1EER SES) 1,826 100.0% 485|[LE 5 MIEH 1,354]  96.6% 485|FiE 18 FEET 7,148] 138.2%
1EEER PR ARERAEES 435]  100.0% 486 | = I I8 HmEh 3,731 96.6% 486| 5 F 8 AiniEmh 2,150] 138.1%
1IZ3EE BEE 116,059 100.0% 487 |FH ] & =Bt 8,369]  96.6% 486|{2 B & =&H 1,192] 138.1%
1EEE SW=FTh 103,362  100.0% 488| B 5E EAFH 6,428  96.6% 486| R & KEH 61| 138.1%
1IZEER JI#E 27,325  100.0% 489|dtiEE Frg AT 409  96.6% 489 Z.EEIJJ,LE'R EWh 29525 138.1%
1BEE AT 13,703]  100.0% 489 | KRR FF AEENET 3,604 96.6% 490|Z X118 BLURHET 4221 138.0%
1EER Jiah 45104| 100.0% 491 |12 1R S=Em 2,291 96.5% 491 FHE T ET 238| 137.9%
1I5EE {TET 5,404|  100.0% 42| B8 BAl ;2 Th 2,366] 96.5% 492 | IR AR KHEX 40,995 137.9%
1I5EE BRm 4.292]  100.0% 493|FERIR KIMET 1,141 96.5% 493|FERIE XEmh 5,458 137.8%
115ER FR™ 24049 100.0% 494|Z 5112 PREHT 2950/  96.5% 494|F)INE T EHET 768 137.8%
1BEE BREETH 5,212  100.0% 495| X B FF R 63,980  96.5% 495| R ER &R BT 5,066] 137.8%
1i5EFEE JnZ&th 8,064 100.0% 496 | = IR HLFRHET 737]  96.4% 496|dtiEE A EHET 323] 137.7%
1BER AEMH 5,580 100.0% 496|f2 B 18 ESIES 493|  96.4% ! 37 L ET 1,820 137.7%
1FERE BT 6,565/ 100.0% 498 |k IR F)ITh 2,742]  96.4% 498|3t:EE Fe ERHT 238 137.5%
115EE EBE™ 15,693]  100.0% 499|ZHIE E At 7,011 96.4% 498| S H1E = HHET 118] 137.5%
1EEE FEILH 9,804| 100.0% 500|REARIE REARTH 61,844] 96.4% 498{1EE B FHOZHT 1,902] 137.5%
1BEEE PEH 3,645 100.0% 501 [FRAR AT A 1 LI BT 1,103]  96.4% 498|REKIE 7K _EFF 170] 137.5%
1IZEEE JEETH 8,442| 100.0% 501 |EEIREIE  |BESERMET 557]  96.4% 498| = IR MIEH 173| 137.5%
1BEER EAT 10,691 100.0% 503|=F 18 =58 38,108] 96.3% 503(dtiEE INETH 6,158 137.4%
115EE FEW 16,739]  100.0% 504| = IR 28Wh 4958 96.3% 504| = I8 RAHT 981 137.3%
1FEE ZEhnth 17,909]  100.0% 505[;4fE 8 J\ E FaHT 3,586] 96.3% 5052 &8 FEH 3,870 137.3%
1EEE ] 26,440  100.0% 506 | B R &R REEX 32817  96.3% 506 ZRIE BT 2,373] 137.2%
1IZEEE BT 4501 100.0% 507|f& ] 2 feiEmh 6,459]  96.3% 506 Euﬁ@r J1| 48R T 1,060] 137.2%
1IBEE FHM 11,786] 100.0% 508| FEIE kil 33,137  96.2% 508| EA1E HiEEh 8,971] 137.2%
11IZ3EE ZAET 10,989]  100.0% 509 H&HZIE B d:) 1,089  96.2% 509 |ER AR RBILX 44562 137.2%
1IB5FEE EARH 5,861 100.0% 510/ B IR s B T 2,103]  96.2% 510 ERIE EmWE 11,714] 137.2%
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REBANIEME ERIZBITHELICTIRIEDE[HIRR (2)
@A > 3—=yk (30Mbps LA E) R4IBEE GOEEBEORBIREREEEHEE R4SIBEE OHEORFHIVEL—FEFE RA.31BIE
B 5z | &8 HF 12 HEEA IREAFHR % B 1z | #REAF 12 c&%%% BRELESHR % B 15 | &R & I8 HEEA BEAEHR %
HEESS] FFth 6,256] 100.0% 511[IUAR WAE 23.714]  96.2% 511 |FIF/ILE | B H)IET 2,000 137.2%
1IFEE T 13,057| 100.0% 512|Fk i 12 INEETH 3,593] 96.2% 512|FKAE it 1501] 137.0%
1I5ER @)t 5,400]  100.0% 513|FEIE AET 10,445  96.2% 513| AR e T 2.252]  137.0%
HEEE=] AET 10,445]  100.0% 514[ L E B FERT 949]  96.2% 514|Z 58 2™ 5,208] 137.0%
1FEE PNl 4,165]  100.0% 514 &R INE TR A 253]  96.2% 515|F 13 ILIE  [[5iEMT 817 137.0%
115EE J\i#Eh 6,433] 100.0% 514X ERAT AL I HT 1,286]  96.2% 516|Z51E FA£0 Z W7 1,020 136.9%
11Z5FEE Et+8H 8,411 100.0% 514|BERER |EAEHR 1,008]  96.2% 517[#Z)I|E  [#Z)I|18 124,280 136.9%
115ER =i 10,572] 100.0% 518| REFIE fRET™H 7,913  96.1% 518 =F 18 g HHAT 1,333 136.8%
111B5EE EAT 4183 100.0% 519|402 LT 5208 96.1% 519|218 FARITET 2520] 136.8%
1|BEE IRE™ 7,617] 100.0% 519[=F 18 JIRET 1,304  96.1% 5202 E 18 T4RRET 312| 136.7%
1IBEE E=FHh 3,289] 100.0% 519| KBR AT sl ET 1,096]  96.1% 521|dtiEE 2N 375 136.7%
1IFEE sy Bmh 4887 100.0% 522 KIFIE A¥h 9,259  96.1% 521 IUFIIE BBy 52| 136.7%
1IBEE Hamh 4254 100.0% 523|EJIE |[FRET 7,073  96.1% 523[=F 18 =58 38,108 136.7%
11EBER )t 6,471 100.0% 524 | KBR AT J\Eh 19,069  96.1% 524|dtiEE S EHT 311] 136.6%
1IFEERE SUHEFTH 9,046/ 100.0% 52515 F 12 JBETH 8,442  96.0% 54|42 B8 RHET 383] 136.6%
HEETE] B 3,926 100.0% 526 B IR KIERET 586/  96.0% 526|f2E 18 ¥ N 3,682 136.6%
1IZ5EE {FEHET 4122 100.0% 5261 A IE F i B BT 400/  96.0% 521|ERER |E5RHE 517 136.5%
1I5EERE =FH 2,985 100.0% 528| BEHZR oM 3,720  96.0% 528[iIFE IR BREE 5212 136.5%
115EER E = LUHET 1,952]  100.0% 520|FE I8 i3l 4958  96.0% 529| 5 F & fERis BT 1,025| 136.5%
1IEEE 5 A BT 636/ 100.0% 529 ([ LR EgI™ 1,951 96.0% 530 REFE LA AR AT 52| 136.4%
HEETE] ;B IIET 1,782] 100.0% 531;#E IR EiRm 9.276]  96.0% 530|If B I8 AEH 2,798 136.4%
1IFERE = L BT 1,057 100.0% 532| FEIE JI\TFHKH 15,484]  96.0% 530 m}zil,% J\BEHT 672 136.4%
11IZ3EE /N1 ET 1,555]  100.0% 533|EEE IR KRHET 3,041 95.9% 530 ZERE ettt 31| 136.4%
1|I5EIE JI ST 1,231  100.0% S534[1FE R EHEE 2018/ 95.9% 530 ,m\%Lr L RERHT 54 136.4%
1IBEE & RHET 1,019]  100.0% 53515 F B MG 27,325  95.9% 535418 HiEE 44.629] 136.3%
1B5ER B LI BT 616/ 100.0% 53612 E IR FEHEF 416  95.8% h36|FEE IR F 2z EHT 910] 136.3%
1IFEE EEHHHET 602| 100.0% 536| FJI & T ERT 768]  95.8% 537| &R HERBLIEES 312] 136.2%
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1|2k 2 EX i 1,746] 100.0% 1461 ILZ 12 ElEhi 2,189]  67.0% 1461|5258 EZATH 3,230 113.1%
14800 2 ik 2,735]  100.0% 1462[t2 [ 8 e 2,735  66.9% 1462|#E)IIE  |ZFE LA 2,651 113.1%
148008 INBRTH 5,190] 100.0% 1463|dt:EE =/ 13,146]  66.9% 1463| =512 =I5 2 22874 113.1%
14800 8 REHT 9,089 100.0% 1464| 2 F 8 =F&8 25,111 66.8% 1464| K98 Ko 38,357 112.9%
1|45 8 EHt™ 11,132]  100.0% 1465|338 BEE 192]  66.7% 1465(dtiE:8 HSH 830/ 112.9%
1|12 8 P32 il 9,407[ 100.0% 1465| LIz 12 /NE BT 479]  66.7% 1465 | = &R =EH 123] 112.9%
14800 2 =&H 8,275 100.0% 1465|2518 £ LLHT 57|  66.7% 1467 | R &R E|4=3 17,851 112.9%
14800 2 AERH 6,461 100.0% 1465|f2 B 18 & W ET 1,353  66.7% 1468| kiR 182 KET 19,298] 112.8%
1|48 2 a&th 5,241]  100.0% 1465\ E IR A 26|  66.7% 1469|db:EE = EXET 1,288 112.8%
1|48k 2 fBEh 6,459] 100.0% 146515 F 12 & LI BT 616]  66.7% 1469| S HFE HEEH 538 112.8%
14800 & S EEH 2.291]  100.0% 1465| FEE E4AH 877|  66.7% 1469| FEIE AT+ AERT 794 112.8%
145800 8 =EM 2,043 100.0% 1465|fZ)I[E | FHET 603]  66.7% 1472| B EE =1 Gl 29497 112.8%
14800 2 kil 2,651 100.0% 1465|ZE)IIE  |Z)IH] 2,774  66.7% 1473|3db:@E =511 2,072] 112.8%
1[{&0 82 gEh 3,937| 100.0% 1465 REFE JIE#F 255  66.7% 1474|[LEE X 1,739]  112.8%
1|f&0 & AHPEM 2561 100.0% 1465| REFFIE N 323]  66.7% 1475 ﬁ%lﬂ@r )l 3,903] 112.8%
1[{&2MH 8 *Bmh 8,811 100.0% 1465| E B2 INGFE 173]  66.7% 1476|fEE 18 Jt EHT 2,058 112.8%
1[{&MH 8 FEMT 3,369] 100.0% 1465| K12 AINBRT AR BEAH 2R A 111 66.7% 1476 )ﬁ,b%h- BmED%mh 2,303 112.8%
14800 8 EES) 2,846] 100.0% 1465| B ERIE EEh 14,153]  66.7% 1478| FEE JI\FHKTH 15,484 112.7%
14800 2 ST 4501] 100.0% 1465| B EVE RLLET 1,069  66.7% 1479 KB fF NEGH 7,794 112.7%
14800 2 JAFEHT 3,034] 100.0% 1465|$2[F 12 FHXZHT 1,224]  66.7% 1480 REFE = #RET 1,212]  112.7%
14800 2 = HT 4.420]  100.0% 1481|3db:EE & Al BT 2,072]  66.4% 1480 KB fF AT 8,761] 112.7%
1|$8E 2 ALLET 956/ 100.0% 1482 EE R HEYTH 3,877 66.3% 1482 | EIFE T 9212 112.6%
1[{&MH 8 tHEHT 5,065/ 100.0% 148315 E 2 X NI 6,565 66.2% 1483, BE BEmh 11,997 112.6%
1[{&MH 8 EEH 1,016] 100.0% 1484|188 HSHET 830 66.2% 1484|858 I;r FEH 4619 112.5%
1[{&0H 8 7K HT 2,055 100.0% 1485| 5 &8 ERNET 593|  66.0% 1485 iﬁE,LE'R AR 10,506 112.5%
e fif] 15 BT 2,662] 100.0% 1486|&FJIE EH 497  65.9% 1486|Jt:fE.8 I BT 199 112.5%
1[{&0m 8 =B AT 1,559  100.0% 1487/ =B E RieHT 1115]  65.7% 1486| FEE Ea=1:1 831 112.5%
1188 INTET 387]  100.0% 1488(dtim38E &K AT 648]  65.6% 1488(dtim38 + AR AT 2,025] 112.4%
1[{&20H 8 $2FHT 1,099] 100.0% 1488|E 5112 BEH 1,285  65.6% 1488|1512 =i 5241 112.4%
1[{&MH 8 I BT 990/ 100.0% 1490| ki1 35k B T 1,082  65.6% 1490|5512 =Bt 8,369 112.4%
1|12k 8 EEID) 126| 100.0% 1491 | FEE FlFT 10,015]  65.5% 1491 | KIE EFIH 9,723 112.4%
14800 8 X T1 BT 1,307]  100.0% 1422|BERERE |EZ B 952]  65.4% 1492| R 12 IRE™H 3,880] 112.4%
14800 2 N 1,402[  100.0% 1493|dtiEE ERHH 1422  65.4% 1493|MEJIIE  |BRR™ 34,059 112.4%
14800 2 [ )1 BT 1,697]  100.0% 14943k R BT 466]  65.3% 1494| 5F 2 LIRET 2,548] 112.3%
1|$8RHE 2 EE&EH 737]  100.0% 1495|&=R1E = BT 430]  65.2% 1495\ Z=)IE  |FFEH 18,447] 112.2%
1|48 8 s EHET 588| 100.0% 1496|dt:8.8 EVILED 687 65.1% 1496| E[E 2 EXC 4] 17,426] 112.2%
14800 8  HHET 756  100.0% 1497([E 8 IRE™H 1,050  65.0% 1497 ;“FP.%%ER SR 861 112.2%
1128 J1| i T 1,115  100.0% 1497|5518 A LT 183]  65.0% 1498| EEE =i 7,088 112.1%
14800 2 KAEHT 436/ 100.0% 1499( L5 I8 1| = $ERHT 999]  64.9% 1499| &R HEHEH™H 6,210 112.1%
1|2 8 Tt 262] 100.0% 1500(Fria R fa] . BT 446]  64.9% 1500| B E B2 JI| E BT 1,231 112.0%
1|20 8 25 HT 1,842]  100.0% 1501 |[FNEHIE MEE 20,681 64.8% 1501 [ B 12 a7 8,157| 112.0%
148k 8 Siij FH HT 3,171]  100.0% 1502| =2 ES-L) 1675 64.8% 1502| FEE AR 2,105 112.0%
14860 8 AP CHT 1,224  100.0% 1503(dtiEE S 5Eh 271 64.7% 1503(dtiEE FEh 8,008 112.0%
1[4g8 00 8 = 393 100.0% 1503|Z L2 e+t 328]  64.7% 1504|5518 % %0 BT 265 112.0%
14800 8 L EHT 681 100.0% 1503| R I8 L FAET 256  64.7% 1505|=F 2 4T 11,339] 111.9%
14800 2 El) 1,191  100.0% 1503|118 FAHHET 424]  64.7% 1506|EE'REE |EKTH 835] 111.9%
14800 2 EERTS —h RS 311  100.0% 1507| 3k 8E =B 727]  64.5% 1507 | EER I BT 772 111.8%
1|48 2 ABRIN=HETESFRAMAE 234|  100.0% 1508| & H IR A& 224]  64.3% 1508 | &R KT &imh 6,907] 111.8%
1480 ] HESEERMEE 638 100.0% 1508(BEE 82 MEER 248]  64.3% 1509(F% [ 2 BMHHh 13,592 111.8%
1{EBER EEER 20,035/ 100.0% 1510(dtiEE BEH 1564]  64.0% 1510(Z 518 ELIERET 4242 111.8%
11&8 ,LE'R =BT 17,888] 100.0% 1510|ZEBE Fhemh 1,661 64.0% 151188 HBER 32,104 111.7%
1HEEER Bifth 6,818] 100.0% 1512544212 BERET 9,503] 63.8% 1512[fF K E AESIUTH 1,613] 111.7%
1HEER AT 1,388]  100.0% 1513(dtimE 75 AR A 57|  63.6% 1513 E 8 SFLIUT 8571 111.6%
1[{EER FEREH 4657] 100.0% 1513|IK B 182 =NIES 108]  63.6% 151415 F B BEsrEH 4887 111.6%
[EEE  [RiEh 3950 100.0% | [1513[BEE  [MmHEm 279]  63.6% 1515 [A&R | 2,501 111.6%
[EEE  |[EBm 2,342] 100.0% | [1513[4@ME  [JIIET 1,697]  63.6% 1516|EBIRSIR |SOFH 1,450]  111.5%
1{E8 ,EL N T 3,782] 100.0% 1517|258 wiah 5479  63.6% 151715 FE 2 ST 6,471 111.5%
1HEER =5 1,990 100.0% 1518| FHZE aabi=Li} 503|  63.4% 1518|FIJIE R 3,303[ 111.5%
1HEER gt 2,447  100.0% 1519 IR JIFHET 996/ 63.3% 1519| EEE g 4718] 111.5%
1{EE & & Ery B ET 1,437] 100.0% 1520/ =B 12 I TR - = AT T oh b & 333]  63.2% 1520( %% 1B BRI 3,921 111.4%
1[EE R gmm 1,276]  100.0% 1520 E'E.EJIIE'R 2 R 1,635  63.2% 1521| B R HEM 14523 111.4%
1HEER I T 899| 100.0% 1520|ZE 18 AEFET 184]  63.2% 1522|F0ERILIE  |FDFRILTH 24910 111.4%
EER ﬂb%HT 1,902]  100.0% 1523| EHE HFR)IRET 3,199  63.1% 1523(dtiE38E 2 I BT 244 111.4%
1MEER % BHET 419]  100.0% 1524| Lz 12 HiEh 3,960 62.9% 1524 R R F3Bh 5313 111.4%
1EER £ HET 1,566] 100.0% 1525 B & = T 709]  62.9% 1525| =12 PN kol 540] 111.4%
1B L KHTHT 407|  100.0% 1526|[LEIE 2l 36,816]  62.8% 1525|4318 5 38 = BT 174] 111.4%
185 ;LILET 830/ 100.0% 1527|[EE EET 2,195  62.6% 1527 EEE mEm 39,446 111.4%
1HEER =k 1,708  100.0% 1528|db:@E [EEH 352]  62.5% 152815 FE 8 RET™H 7617] 111.3%
EER AEH 555 100.0% 1528 [ILiZ 8 AT JL T 1,245  62.5% 15293t 88 {EEN=HT 1,201 111.3%
1 Eum.- RIGE 26,136/ 100.0% 1528| ISR 75) 1| BT 283[  62.5% 1530|#1im 8 H _E BT 706 111.3%
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REBANIEME ERIZBITHELICTIRIEDE[HIRR (2)
@A >3 —2yk (30Mbps Ll E) R4JIBE GOEBLZZOARDIRTEEERE R4SIBEE OHEORFHIVEL—FEFE RA.31BIE
B 5z | &8 HF 12 HEEA IREAFHR % B4z [ R E FF I8 % c&%%ﬁ BRELESHR % B 15 | &R & I8 HEEA BEAEHR %
1| RIGE BETH 3,420  100.0% 1531|EREE |FEET 11,708]  62.4% 1531|db:EE T Al 1,094 111.2%
1| EgE BT 10,929]  100.0% 1532|dbiEE 1= EXET 1,288]  62.4% 1532/ ILAE =g 14.481] 111.2%
1| EIFE Xtth 9,259 100.0% 1533|388 FxHT 931 62.3% 1533|488 S ERET 362 111.1%
1| RIFE TEEH 2,155]  100.0% 1534 E 8 = lEH 29497  62.2% 1533| EfR 12 &1kt 33 111.1%
1 RIBGE =lgmh 2,136] 100.0% 1535|=F 8 i JECHT 563  62.0% 1535\ IUFII8 BHWRh 4822] 111.1%
1| RIFE HETH 2,358  100.0% 1536[fF K& Bt 4909  61.7% 1536| EEE IEERTH 44,990 111.0%
1| RIGE faiETh 1,789]  100.0% 1537(dtiEE H=Lal 96| 61.5% 1537|f8EE gBETh 3,937] 111.0%
1| RIGE FZlth 3,150]  100.0% 153744218 Z R 99|  61.5% 1538|#F K12 £ ™ 8,074] 111.0%
1| EgE BEERET 3,074] 100.0% 1539| S %012 FEth 1575]  61.4% 1539| = IF 12 EXGh 1,281 111.0%
1| RIFE E 50 3,486] 100.0% 1540(dt 8.8 B 140 388  61.4% 1540 % IR 12 At 10,168] 111.0%
1| EIBE B ET 2,561 100.0% 1540( L5118 TETG 2,382]  61.4% 1541 ;488 S REH 7,588] 111.0%
1| EIBE EXtanl 531] 100.0% 1542|iI% B 15 =0 2,153]  61.3% 1542| =ER1E SIS HT 1,056] 111.0%
1| EIBE J1 | 48R BT 1,060/  100.0% 1543| B E 12 R SIES) 514]  61.3% 154315 E 2 JI#E T 27,325 111.0%
1| RIFE SRk RET 1,216] 100.0% 1544| B2 B3 H 2 HT 781 61.3% 1544|152 P 6,459] 110.9%
1| RIFGE 1 < BT 1,369 100.0% 1545|I% B2 182 %=\ BT 1123  61.1% 15454t ;88 HFOHET 396 110.9%
1| RIFE §EJ?J:EE%ET 1,035 100.0% 1546 ERE KXFm 11,419]  61.0% 1546| EEE FHmh 17,102] 110.9%
1gexE BEEAE 29,648]  100.0% 1547| =312 P bl 9,887 61.0% 1547|t8F 12 KAEHT 436] 110.9%
1EERIE “% Nitl 61,844] 100.0% 1548|Fia 8 AL 5312]  61.0% 1548| FFE mlllH 31,660 110.7%
1RERE J\RRTh 9,252]  100.0% 15493k E =10 429]  60.9% 1509|EREE |lAR™M 7,015] 110.7%
1EERIE ANSH 2,423]  100.0% 1550(dt 8 Al i ET 1,267]  60.7% 1550|f2[E IR (oLl 5,735] 110.7%
1{gERE Kz 1,687 100.0% 1551(ERE + 4~ JEHT 1,278  60.6% 1551|db:@E EWNET 208] 110.6%
1{REERE E&H 4924 100.0% 1552 KRR FF wA™H 30,388]  60.6% 1552|fFhEHIE =FEHT 798| 110.6%
1|EEARE Hihh 3,881 100.0% 1553[BIREER [LWEEXFH 1,935  60.6% 1553(dtiEE R 7,789 110.6%
1{geRIE Fimh 3,054 100.0% 1554| =318 J1| U5 BT 500/  60.5% 1554[1% F 12 EZFtH 3,289 110.6%
1[BEARIE LEXEmH 1,671] 100.0% 1555| 5 &% 12 HRENET 773]  60.5% 1554 | #1ZS “||;r Hath 11,221]  110.6%
1RERIE Fh 4619]  100.0% 1556 FEE #kFmh 3,990/ 60.3% 1554/ =B 12 4B 9,933] 110.6%
1EERIE Al &ExTh 1,753]  100.0% 1557(F0FRILIE  [SKHET 744]  60.3% 1557 %ﬁ,@n W ET 5,153] 110.5%
1EERE X&Et 5,458]  100.0% 1558| =ik 12 PRET:) 1,536]  60.2% 1558|dt3m38 gl 10,833] 110.5%
1[EexE &EH 7.173]  100.0% 1559(dtiEE SEEHT 302]  60.0% 1559| Ik B 12 Z=J\HT 1,123]  110.4%
1[EERE EEH 526] 100.0% 1559|fE & 18 1) 569]  60.0% 1560 FFEE =Xl 3,356] 110.4%
1|BEARE EX 2] 455|  100.0% 1559|=RI2 +:2 )% 146]  60.0% 1561|EREE |[EASH 1,008] 110.3%
1[REXRIE A BA AT 577  100.0% 1559|ZEB & REFH 50/  60.0% 1562 B 12 KiE 12,464] 110.3%
1EERE R IMET 1,141]  100.0% 1559 | @ L2 & BT RBET P RS 96/  60.0% 1563|ZRIE +:Z)115T 146]  110.3%
1[RERIE F0oK BT 623  100.0% 1559|428 [ 12 [EWak 4593  60.0% 1564|153 F B2 JEETH 8.442] 110.2%
1|gEARE XEHT 3,724] 100.0% 1559|BE AR IE KBTI R UK A 112]  60.0% 1565| [ L IE =Lt 40,377| 110.2%
1EERE L[5 8] 4558] 100.0% 1559 EIREE [ RIHHT 483]  60.0% 1566|FJIIE EEET 3,199] 110.1%
1AERE B/ NE BT 263 100.0% 1567/ ILOE WiE/NEFE ™ 4684 59.7% 1567|BERER |BEEJIANH 7,882 110.0%
S INEEL:) 405|  100.0% 1568| 5F 2 Fix-Xiil 6,678/  59.6% 1568|&JIIE =T 34,130/ 110.0%
1[REXRIE ELLF 102|  100.0% 1569 | R = &R I 5,066 59.4% 1569 REFE EiEH 22| 110.0%
1EERIE =70 438|  100.0% 1570( EE 2 FHEtHh 4718] 59.4% 1570[13 FE 2 =k 45104 110.0%
1RERE AR 619]  100.0% 15711 ZERE BlEH 8,869 59.3% 1571|fE B8 =nitl 18,824] 109.9%
1[gExRE B BT ER A 699 100.0% 1572| FEE < LLET 434  59.3% 1572 iiifln- XN 6,565 109.9%
1RERE fiED A BT 1,434]  100.0% 1573(dtiEE FRELH 169]  59.1% 1573| &g 182 eEG 21.837[ 109.9%
1RERIE = BT 1,013]  100.0% 1574|5518 mAE+mH 2,199 58.9% 15743t ;@38 AT 631] 109.8%
1AERIE LI #0 BT 824] 100.0% 1575|[E 8 EEmh 9,084 58.7% 1575|152 EEAT™ 13,703]  109.7%
1EERE 3K )11 BT 745]  100.0% 1576(dtimE JERHET 425|  58.7% 1576|2182 HEFHRT 6,299] 109.7%
1EERE =B [d:] 1,066] 100.0% 1577|=8 8 ERH 993  58.7% 1577 % %12 | 30151 2814 109.5%
1gEERE R KHET 304] 100.0% 1578[lLAE BhFETh 8,959 58.6% 15784818 EEHEF 53] 109.5%
1ERE FRET 962| 100.0% 1579[FHFE R EM 85| 58.3% 1579| BT &R INEHTH 8,008 109.5%
1[RERE E A= ¥ 713]  100.0% 15719 REHE L/ A BT 641 58.3% 1580(dtE:E FEH 2,237 109.5%
1[gexEB S HIRT 283]  100.0% 1579 EERIE =ERHET 458]  58.3% 1581 FEE KZ=H] 489 109.4%
1EERIE K E*F 170/  100.0% 1582| B &R Ho HHT 1543]  58.1% 1582| 5 HE J\F 16,284]  109.2%
1[EERE HEM 297|  100.0% 1583[FaE & ,‘IFE 4573]  57.9% 1583|fEE 12 a4 1,682] 109.2%
1EERE A ARA 48]  100.0% 1584[ Lz 12 F BT 325]  57.9% 1584| L ER KT I 6,710 109.2%
1{REERE T 4F 359] 100.0% 158544318 ik At 1,928] 57.6% 1585| Lz 12 mEfEmh 2,189] 109.1%
1ERE BREE T 198  100.0% 1586| B E IR [ EESH 7,281 57.4% 1586 | K BRKF RXKEMH 5474] 109.1%
1[RERE HTYHT 1,290 100.0% 1587[IFE 2 J\EiH 6,433] 57.2% 1587|F0FLE  |iBA&TH 4102 109.0%
1[EERE e 4] 501] 100.0% 1588k & =R 157  57.1% 1588 | E% [ IR EHlTh 7,553]  109.0%
1|BEARIE SKINETR U\ A4 A 112]  100.0% 1588| 5 F & =AY 148] 57.1% 158915 F 12 ] 26,440( 109.0%
1| XD R NN 22,879 100.0% 1590(dk:EE Z YL HET 453  56.8% 1590| 8% [ 12 EtE=mh 10,239] 108.9%
1| X5 N il 38,357] 100.0% 1590/ =B 12 F 3T 1,956]  56.8% 1591 | = B2 HmEh 5,001] 108.8%
1| X7 A FF 7,357]  100.0% 1592|5518 ZEFmh 547|  56.6% 1592| EEE BT 32,455 108.7%
1 jcé:\ FiEH 6,924] 100.0% 1593 | R &R EEH 146,409]  56.5% 1593|t2FE 12 AERH 6,461] 108.7%
1| X% HHEH 4988 100.0% 1594 | %I IE okl 10,168]  56.4% 1594| =318 4= 64| 108.7%
1| X% Lr =Kl 4629/ 100.0% 1595|f&a ] ] N 1,402]  56.1% 1595| 5F & RE[E 21,732] 108.6%
1| X% Lr It 2,542 100.0% 1596|db:@E FSHT 369] 55.9% 1596 | FR&B KT FHFH 418 108.6%
1 X5 EART™ 937]  100.0% 1596 |EERER | SiRHAT 493  55.9% 1597 & 8 KiEmh 27,236] 108.6%
1 jcéa‘ ’r’rEﬂFﬁ 1,193]  100.0% 1598|4812 JAEEET 3,034 55.7% 1598 $rJ‘57I<Lr BERETh 6,565 108.5%
1 jcé:\ 2% sHT 1,518 100.0% 159 5F 8 FEEPHT 953]  55.6% 1599(dk:EE H/MEh 13,146 108.5%
1| X5 ¥ES 1,992 100.0% 159 ERE JIEFF 40|  55.6% 160045818 Jt At 1,766 108.5%
1| X5 Lr Tkt 4,026] 100.0% 1601|EF 2 ZFmh 1,656]  55.3% 1601 [ KB FF EiEmh 6,211] 108.5%
1| X% I;r B XHH 2,229 100.0% 1602(dtimE NN ET 408  55.2% 1602| & %018 EEH 3,311 108.4%
1| X% =Kl 2,615 100.0% 1603| Uiz 12 WL BT 773]  55.1% 1603| EER -2Mth 5,871 108.4%
1 jc’ EEXH 1,559 100.0% 1604(dtiEE BIFH 223]  55.0% 1604 h% EEHT 36/ 108.3%
1| X% EER 89| 100.0% 1604/ 5 E 2 ES-Li) 769]  55.0% 1604 %ﬁ'r%lrr B 144 297 108.3%
1 jc’ HHEr 2,350] 100.0% 1604|5518 X2 112]  55.0% 1604|5518 T kR 222 108.3%
1| X5 NEHT 616/ 100.0% 1607| REFE PNt 1,639 54.8% 1607|5812 Eth 20,004| 108.3%
1{ X% ,LR A HT 1,025|  100.0% 1608|EE R EE  |ZN4H] 521 54.8% 1608|Zkim 12 WFm 6,642 108.3%
1| =iFE =R 22.874]  100.0% 1609 FFHFIE B e 24725  54.7% 1609[RERIE = ST 1,013]  108.2%
1| = E =& 32,183]  100.0% 1610(dtsm38 hE B EFHET 379]  54.5% 1610{ KR AT MR 15,597 108.2%
1= IFE #hTh 13,953]  100.0% 1610/ LAz 12 = LHT 564]  54.5% 1611 jcryir‘ FERKREF 278] 108.2%
1| =S ERETH 9,212 100.0% 161042 & KIEET 436 54.5% 1612|=R B T 3,973 108.1%
= HEgmh 3,731  100.0% 1613|EE R AHT 19,231 54.5% 1613 ﬁ.#,LR (i=Eadiil 19,849 108.1%
1= IgE IR 3,390] 100.0% 1614|FBE IR K FRHET 300/ 54.1% 1614|182 12 TikH 4203] 108.0%
1| =iFE HrEmH 5,001 100.0% 1615| =R B IEfT 2,508]  54.0% 1615|IBE B s+ Rt 8,411 108.0%
L EXGhn 1,281]  100.0% 161612 & REHFT 9,089] 53.9% 1616| =518 Z 3 FIET 149 108.0%
1= IFE FaER 2,209  100.0% 1617(dtiEE H{ZHET 283|  53.8% 1617|258 =BT 31,745 108.0%
1| =58 Z2UDTH 1,288 100.0% 1617 ILFZ I8 XEMH 4878| 53.8% 1618/ =R 2 S IKET 375 107.9%
= = IRHET 2,828 100.0% 1617|558 ST 146]  53.8% 1619{EE B ;LILET 830 107.8%
1= IEE =R AT 645| 100.0% 16208 Li#H 13,289]  53.6% 1620 ERER [EEWH 11,708] 107.7%
1= IE [E = BT 1,368]  100.0% 1621(dtimE Tt ECHT 298] 53.3% 1621| 5 HFE EEHEMN 71 107.7%
1= E HEHT 632]  100.0% 1621|[{2E 12 XEH 349]  53.3% 1621 ILFL1E LEE™H 1,228] 107.7%
1| =R = ST 1,619]  100.0% 1623|EREE [BERER 27,901 53.2% 1623|FHIE #ETH 20,939 107.6%
1= IGE =T 1,466 100.0% 1624 REFE En4 iR 2,565 53.2% 1624(dtE8 BT 5,690/ 107.6%
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1R AiEH 5,002] 100.0% 1678[IUZ IR %ﬁr‘ﬁi 2,506]  45.1% 1678| KRR AT PREFH 7,656 104.8%
1) iR JEAT 11,569 100.0% 1679(dt:E:8 2= 266]  45.0% 167944812 7 JeL [ T 4,741] 104.7%
1428 #Eh 6,464 100.0% 1680| &) & =@ 8,275  44.9% 1680|31iR 8 s 58,630] 104.6%
1R R 6,562| 100.0% 1681[Jb 8 7K 71| BT 367  44.8% 1681|ZRE FH & AR ET 2,285| 104.5%
BT BT 14,215]  100.0% 1682| LTz 12 g HET 378]  44.4% 1682/ B 12 L IEHT 899 104.4%
BT S REH 7,588  100.0% 1682 | BR F AR B EH 10| 44.4% 1683| FEER ENEa T 10,015| 104.4%
1iEE 2dFh 12,453|  100.0% 1684 5F 8 = 1,692  44.2% 1684|152 J\&Zmh 4348] 104.1%
1hsEE ===l 5,115] 100.0% 1685|[L B8 I ET 1,096  44.0% 1685|FE'REE |[HiEM 3,872] 104.0%
1R kT 4,732] 100.0% 1686| FEE WIHh 2,159]  43.9% 1686|FEIREE |=SH 80| 104.0%
1488 E B+ 364 100.0% 1687| 5 F 2 & /7 B HT 1,164]  43.8% 1687 | ARAT HAEDH 6,441 104.0%
128 X B R AT 213  100.0% 1687[FVEHE il 5513  43.8% 1688 | &R KT FA 13,835 103.9%
1R EX D 121]  100.0% 1689/dk:@E ES il 232  43.5% 1689/ILAE WS /NEFETT 4684 103.9%
1fEE SR 861] 100.0% 1690| =12 B AT 770]  43.3% 1690(FEE 8 BEE 1,141]  103.8%
1P4EE A ERET 1,204]  100.0% 1691|fE 518 Bt 2,394  43.3% 1691|REARIE Z[5HT 4558 103.7%
1H48R ISELER 990 100.0% 1692|5182 A& H 12,841 43.3% 1692|818 ERh 9,276 103.7%
1P4EE B A 753]  100.0% 1693|112 B8 1 = ET 1,091 43.1% 1693 _E,Lr 252 SETRAERES 395/ 103.7%
BT £ RHT 1188 100.0% 1604 @=)IE_ |=@m 2,262]  43.0% 1694| LR 5K 7.154] 103.7%
18R Bkl 4,462 100.0% 1695|= 18 =R 12,431]  42.4% 1695|215 /\rllé,,fﬁ 1,994 103.6%
1EE =T HNET 1,389]  100.0% 1696[dt:E & 21| A T 368| 42.1% 1696/ LU IR 1= 1,807 103.4%
19428 b %5 H7 3,038] 100.0% 1696 |t T iRHET 612]  42.1% 1697 |t&fE IR AE 9,407| 103.4%
18R At Fhig At 1,766  100.0% 1698|dtiE:8 H F0ET 396  41.9% 1698| FEIR WE™ 34,446| 103.4%
1[HEE AL 1,928] 100.0% 16991 B2 182 KETR/\BR/\BTHE 294  41.7% 1699|gEARIE J\ X 9,252 103.2%
1[HEE 7a R AT 3,431 100.0% 17002 &8 SEEWT 8,426]  41.5% 1700 EEE FiE < BT 2,487] 102.9%
1B | SAERE 2172] _100.0% | [1701[ Wi |KTAT bi4| 414% | |1701/SIRR |76/ SHT 1991 102.%
18R e J J5 T 4,741]  100.0% 1702|3838 FEe S T 238  41.2% 17028 R)IE  [)I]H 108,994 102.7%
1@ e = B 90| 100.0% 1702 %% 2 K EET 1,025 41.2% 1703[dt i ER{=HT 283 102.6%
B JEE RS bk A 108|  100.0% 1704|258 RiETH 3,870[  41.1% 1704|4818 FEEH 129| 102.6%
1)g 8 REH 53| 100.0% 1705| 5 HFE - HT 270[  40.9% 1705\ A2 =R R T 2,153  102.5%
hEE EREM 21| 100.0% 1706 | SRAR AT =iET 954  40.8% 1706/ ERER |ERE™ 91,012| 102.0%
1[HEE FEAF 125  100.0% 1707 FFHE A FHT 923]  40.7% 1707|db:EE B R ET 193] 102.0%
1 E € =00 665| 100.0% 1708|E% [ E &K HET 2,535  40.6% 170815 E 8 = T 2,203] 101.9%
1048 J\ 5 AT 3,586] 100.0% 1709| Z 4 18 A+ HT 1.077]  40.2% 1709 | BRI AR NEFH 39,414 101.6%
1];h#8E % BRI 99| 100.0% 1710/ 5F 8 Ly ER T 876]  40.0% 17T10|ERER  |FEEH 1,324] 101.6%
1]PHE R = ) 174] 100.0% 1710[I B2 IR = SnHT 372  40.0% REETE] /N1 HT 1,555 101.3%
1712|Hm R B 146,409 98.8% 1712|ZE J”[;r HEIIE 124,280  40.0% 1712(FEE AEET 10,671] 101.2%
1713|R/JIIE alIE 21,828]  98.2% 1713[ B &R fiigh 7,695  39.9% 1713[iF R E FAHT 3,046] 101.1%
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1728|3t 88 FEERT 499 90.0% 1729|BFEE RE™ 7617  36.7% 1723| KB fF ERJIH 15,818 100.0%
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1732(dtE8 A= 830/  87.5% 1733(dtiEE K5 ERHET 283  35.3% 1723 % FISS K TI T 1,307| 100.0%
1734|3t B8 1= B HT 1,288 86.7% 17331 B HE tFHT 891 35.3% 1723|RERIE =odit] 7,173  100.0%
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